£ K500 x 500 % 700 £ K450 450 % 700

T | 2. 0% L-20. 45m
L= 2o i=1. 0% L=6.0m g a0 o e SA AL VU® 150 i=2. 0% 2
EEEO0 L URZRE (C-40X(ERC-40) B 25.0m
460

(FE10.13

&
%
el
)
23|
oV &
5%
2 =3 1
- = .
KikHaryy—k  t=100m 2 FH=10. 10 % %
FH=10. 067 B s 1‘
® o o w = i = ‘y
. i i
& 0o o Ll}—l; | = ,%
® FH=10.05 N
': £ |
;‘ 2
v, % % ? — B % K
5 | | =
D ‘ B )' = Tz v
2 e | i THAAHBETER |2 1
. | ' B & g
= | 2 5ih El
S |
= L% v % FLEBEE F=l. In 10,15 L=31. 766 a w e : :
a BETHOFETIRET LEE R LT B, Mmoo | RFHNEFEHOE/ LE 95FIN
@ FER S

HEES A-02 #ER

= % x| Qs Company #zX£%t

ERMREREMIIET 2 436 %ﬁh 10
w | BRSH WARBEHEZ=HEF
fEmEE B R A




